1721 71"7 '0I0 X,X7 2"2 .7"02

And the "p7a71 admit in a case - 912 TIAPOW MRT RONT SYTITI 1T
where he claimed that my parents bought it, etc.

OVERVIEW

All agree in the case of Xn7aX *7¥ and 7pn 7Y if the litigants retain their original
claim of *max 5w that we award the property to Xni7aR >7v. If the 1 changes his
claim to 1n°ar 7°n, there is a dispute. X7 maintains 10 NN and the Y77
maintain ¥ NN wxr.! If the P left the 7"°2, X7v admits that he cannot
subsequently claim 710121 71" for we concerned that he was coached. *¥7771 admit
that he can be Tmaxn WPLY Mark W A, The claim MaRn mphw is more
implied in his original claim of *Max 5w, than nn1°2r 7171, The general rule is that a
person may interpret and qualify his claim; he may not, however, change his claim.

991 91959 281 N 11 1%29 KON 91N INI2Y 79937 XD PNYY 13°29Y NPavn
The ''1 is in doubt in a case where the P 1 went outside of 7"°2 and then

returned and came back to 7''s2 if he can still claim this; ie. that wmphw max
T maxn. Do we say that since he went outside we are concerned that someone taught him this
new claim (as the 7 is if he wants to claim now 121 7in1°271 71°71); or perhaps the claim of “nax
T°MaRn MPLW is so inherent in the original claim of >nak W that he may claim it even after he
left 7"2 and subsequently returned.

SUMMARY
nooIn is in doubt what is the "7 if he left 7"°2 and now wants to claim >naR Hw
TR MPLW.

THINKING IT OVER

1. The original claim of >max %W is not acceptable. There is seemingly an equal
probability of 723X NI, whether it is 7°N°21 71 or TMaRA MPPw. Why should
there be a 90?7 The two cases should be the same!

2. Is po0 Moo (only) according to the *y7173, or (also) according to X91w?°

" Their dispute is whether 7n2ar 71 is implied in >max > or not.
% It seems from the structure (sequential order) of the X713, that the problem with 1311 "X72Xn XNXY, is by (the case
of) X7 (and not by the case of *¥7771).
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